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 1. Find out the statement/statements not correct regarding the formation of linguistic 
States in India.

 i. Andhra and Tamil Nadu came into existence in 1953 as linguistic States on the 
recommendation of the States Reorganisation Commission.

 ii. In 1953, The States Reorganisation Commission was appointed with Justice Fazl Ali, 
K. m. Panikkar and Hridayanath Kunzru as members.

 iii. The States Reorganisation Act passed in 1956 provided for 14 States and 6 Centrally 
administered territories.

 iv. The linguistic Provinces Commission headed by dr. S. K. dar appointed in 1948 
advised against formation of linguistic States. 

 A) i and iv B) ii only C) i, iii and iv d) i only

 2. Identify the correctly matched facts below.
 i. Congress Socialist Party – Jayaprakash Narayanan – 1934.
 ii. Forward Block – Subhash Chandra Bose – 1939.
 iii. Punjab Nau Jawan Bharat Sabha – Bhagat Singh – 1926.
 iv. Communist Party of India – m. N. Roy – 1920.

 A) i and iii only   B) All of the above 
 C) i, iii and iv   d) None of the above

 3. match the following.
 i. Sadhujana dootan a. K. P. Vallon
 ii. Harijan b. C. Krishnan
 iii. Mitavadi c. Vakkom maulavi
 iv. Al-Islam d. Pampadi John Joseph

 A) i – d, ii – a, iii – b, iv – c  B) i – b, ii – d, iii – a, iv – c
 C) i – c, ii – a, iii – d, iv – b  d) i – d, ii – a, iii – c, iv – b

 4. Which among the following consist exclusively the names of cities to host forthcoming 
G-20 Summit ?

 i. Kumarakom, Cochin, Kozhikode, Thiruvananthapuram.
 ii. Kolkata, mumbai, Kumarakom, Cochin.
 iii. Kumarakom, Kozhikode, Trichy, Goa.
 iv. Pune, Goa, Cochin, Trichy.

 A) i and ii B) iii only C) i, ii and iv d) ii only

 5. Consider the following and identify the false statement.
 1. Pampas are grasslands in Argentina.
 2. Sirocco causes blood rain in Italy.
 3. Bushmen are found in Siberia.
 A) Only 1 B) 1 and 2 C) 1, 2 and 3 d) Only 3
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 1. CÍ|p]Rs nLxL yUòLj°tORa qPk}WqevOoLp] mÌRÕŸV wq]psæL¾ NkñLvj/
NkñLvjW¥ WRº¾OW.

 i. yUòLj kOj@yUZajL WÚ}xR£ wOkL¡w NkWLqU 1953&¤ BNÌpOU fo]uVjLaOU 
 nLxLkqoLp yUòLj°tLp] j]sv]¤ vÐO.

 ii. 1953-¤ ^ð]yV lLy¤ As], RW. IU. ke]¨¡, zQhpjLgV WO¢NyO IÐ]vqa°]p 
 yUòLj kOj@yUZajL WÚ}xRj j]po]\ÿO.

 iii. 1956-¤ kLyL¨]p yUòLj kOj@yUZaj j]poU 14 yUòLj°¥¨OU 6 SWNÎ 
 nqe NkShw°¥¨OU Svº] v|vò R\pÅ]ŸOºV.

 iv. 1948&¤ j]po]¨RÕŸ ScL. IyV. RW. hLr]R£ SjfQf~¾]sOç nLxL Nkv]w|L 
  WÚ}x¢ nLxLa]òLj¾]sOç yUòLj°¥ qPk}Wq]¨OÐf]Rjf]Rq DkShw]\ÿO. 
 A) i and iv B) ii only C) i, iii and iv d) i only

 2. fLRu RWLaO¾]ŸOçvp]¤ wq]pLp] S\qOUka]SˆqOÐ vñOfW¥ f]q]\ÿr]pOW.
 i. SWL¦NYyV SyLx|s]ðV kL¡Ÿ] – ^pNkWLwV jLqLpe¢ – 1934
 ii. SlL¡SvcV SmæL¨V – yOnLxV \NÎSmLyV – 1939
 iii. kµLmV jT ^vL¢ nLqfV yn – nYfV y]UYV – 1926
 iv. WÚ|Pe]ðV kL¡Ÿ] KLlV CÍ| – IU. I¢. SrLpV – 1920
 A) i and iii only   B) oOWt]¤ kr´vRpsæLU 
 C) i, iii and iv   d) oOWt]¤ kr´v KÐOosæ

 3. fLRuÕrpOÐv S\qOUka]S\¡¨OW.
 i. yLiO^j hPf¢ a. RW. k]. vSçL¢
 ii. zq]^¢ b. y]. WQxVe¢
 iii. o]fvLh] c. v¨U oTsv]
 iv. A¤&CyæLU d. kLÒLa] S^L¦ S^LylV
 A) i – d, ii – a, iii – b, iv – c  B) i – b, ii – d, iii – a, iv – c
 C) i – c, ii – a, iii – d, iv – b  d) i – d, ii – a, iii – c, iv – b

 4. fLRu fÐ]q]¨OÐvp]¤ vqLj]q]¨OÐ G-20  D\ÿSWLa]¨V Bf]Sgpf~U vz]¨OÐ 
jYq°tORa SkqOW¥ oLNfU D¥R¨LçOÐv JfLeV  ?

 i. WOoqWU, RWL\ÿ], SWLu]S¨LaV, f]qOvjÍkOqU
 ii. RWL¤¨¾, oOURRm, WOoqWU, RWL\ÿ]
 iii. WOoqWU, SWLu]S¨LaV, Na]\ÿ], SYLv
 iv. kPRj, SYLv, RWL\ÿ], Na]\ÿ]
 A) i and ii B) iii only C) i, ii and iv d) ii only

 5. fLRuÕrpOÐv kq]Ye]\ÿV RfãLp NkñLvj f]q]\ÿr]pOW.
 1. A¡^£}jp]Rs kO¤SoaOWtLeV kÒW¥.
 2. y]SrLS¨L Cãs]p]¤ q©oupOºL¨OÐO.
 3. RRym}q]pp]¤ mOxÜL¢ WLeRÕaOÐO.
 A) Only 1 B) 1 and 2 C) 1, 2 and 3 d) Only 3
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6. Which of the following is an open source GIS software ?
1. QGIS
2. Arc GIS
3. SAGA
4. map info

A) Only 1 B) 1 and 3 C) 1, 3 and 4 d) Only 3

7. Choose the correct statement/s.
1. doldrums are in Equatorial low Pressure Belt.
2. Blind valleys are associated with Aeolian topography.
3. River Brahmaputhra rises from Chemayungdung Glacier.
4. Isoneph are used to show the spatial distribution of cloud cover.
A) Only 1   B) 1 and 2 
C) 1, 3 and 4   d) 2 and 3

8. Kunthippuzha drains through
A) Silent valley   B) Peppara 
C) Aralam   d) Agasthyakoodam

9. The term Input Tax Credit is associated with
A) Value Added Tax   B) Goods and Service Tax
C) Income Tax   d) Corporate Tax

10. What is shoonya campaign of NITI AAyOG ? 
1. Zero pollution e-mobility campaign.
2. Consumer awareness campaign to reduce air pollution.
3. It promotes the use of electronic vehicles.
Select the correct answer.

A) 1, 2 and 3   B) 1 and 3 
C) 2 and 3   d) 2 only

11. What is E-Amrit famous for ?

1. It sensitizes consumers on the use of electric vehicles.

2. It is a collaborative knowledge exchange programme with the US government.

3. It aims to accelerate decarbonization.

Select the correct answer.

A) 1, 2 and 3 B) 1 and 3 C) 2 and 3 d) 1 and 2
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6. fLRuÕrpOÐvp]¤ JfLeV KqO KLÕ¦ SyLuVyV GIS SyLlVãVRvp¡ ?

1. QGIS

2. Arc GIS

3. SAGA

4. map info

A) Only 1 B) 1 and 3 C) 1, 3 and 4 d) Only 3

7. wq]pLp NkñLvj/NkñLvjW¥ RfqR´aO¨OW.

1. CW~SãLr]p¤ SsL Nkx¡ Rm¤ã]sLeV ScL¥NcUyV.

2. AÌoLp fLuVvqW¥ ISpLs]p¢ nPNkWQf]pOoLp] mÌRÕŸ]q]¨OÐO.

3. NmùkONf jh] R\opP‚VcUYV z]oLj]p]¤ j]ÐLeV DÂv]¨OÐfV.

4. WæTcV Wvr]R£ yVSkx|¤ c]yVNa]m|Px¢ WLe]¨L¢ RISyLRjlV   
DkSpLY]¨OÐO.

A) Only 1 B) 1 and 2 C) 1, 3 and 4 d) 2 and 3

8. WOÍ]ÕOu KuOWOÐfV

A) RRys£V vLs]   B) SkÕLr 

C) BrtU   d) AYñ|WPaU

9. C¢kOŸV aLWõV RNWc]ãV IÐ khU __________ oLp] mÌRÕŸ]q]¨OÐO.

A) oPs|v¡i]f j]WOf]   B) \q¨V Syvj j]WOf]

C) BhLp j]WOf]   d) SWL¡ÕSrãV j]WOf]

10. IÍLeV j}f] BSpLY]R£ wPj| WLÒp]¢ ? 

1. y}SrL RkLs|Px¢ C&RoLm]s]ã] WLÒp]¢.

2. AÍq}ƒ os]j}WqeU WOràOÐf]jOç DkSnL©Q AvSmLi WLÒp]¢.

3. CfV CsSNW›Le]WV vLzj°tORa DkSpLYU SNkLÃLz]Õ]¨OÐO.

  wq]pLp D¾qU f]qR´aO¨OW.

A) 1, 2 and 3 B) 1 and 3 C) 2 and 3 d) 2 only

11. C&AoQfV IÍ]jV Nky]ÈoLeV ?

1. CfV CsNW›]WV vLzj°tORa DkSpLYR¾¨Or]\ÿV DkSnL©L¨Rt   
SmLiv¤¨q]¨OÐO.

2. CfV pO. IyV. y¡¨LqOoLp] yzWq]\ÿOç v]³Lj RRWoLã kq]kLa]pLeV.

3. c}WL¡mRReSyx¢ f~q]fRÕaO¾L¢ CfV sƒ|o]aOÐO.

  wq]pLp D¾qU f]qR´aO¨OW.

A) 1, 2 and 3 B) 1 and 3 C) 2 and 3 d) 1 and 2
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12. Which of the following is true with respect to Union Budget 2023 ?
1. India’s economic growth is estimated at 9.2%.
2. Government contributions will be provided for Sun rise areas like Artificial Intelligence, 

Green Energy, Geo-spatial systems and drones.
3. Introduction of digital Rupee by RBI.
4. Sovereign Green Bonds shall be issued for mobilizing resources for green infrastructure.

Select the correct answer.
A) 1, 2 and 4   B) 1 and 3 
C) 2 and 3   d) All the above

13. The Constituent Assembly was constituted as per the provisions/directions of 
A) The Objective Resolution, 1946 B) Cabinet mission Plan, 1946
C) Government of India Act, 1935 d) Indian Independence Act, 1947

14. Consider these statements about Rajya Sabha and find out the correct 
combination.
i. The Rajya Sabha is a partially elected body.
ii. Provide representation to the States.
iii. Enjoys six year term.
iv. Vice President is its ex-officio Chairman.
A) ii and iv are correct   B) i, ii and iv are correct
C) i, ii and iii are correct   d) All are correct

15. The Constitutional Amendment Act stopped the reservation of seats for Anglo-Indian 
community in the lok Sabha and State legislative Assemblies.
A) 104th B) 103rd C) 102nd d) 101st

16. The members of the GST Council are 
i. Prime minister
ii. Union Finance minister
iii. Union minister of State for Finance
iv. Finance ministers of the State or the nominee

A) All the above   B) i, ii and iv only
C) ii, iii and iv only   d) i, iii and iv only

17. The writ issued against a public authority or an officer whose non-performance of 
responsibility causes injury to someone
A) Habeas Corpus   B) mandamus
C) Prohibition   d) Certiorari
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12. pPe]p¢ m^ãV 2023&Rj yUmÌ]\ÿV fLRuÕrpOÐvp]¤ JfLeV wq] ?
1. CÍ|pORa yLÒ¾]W vt¡\ÿ 9.2% Bp] We¨L¨OÐO.
2. yPSq|Lhp SoXsWtLp B¡Ÿ]l]x|¤ C£s]^¢yV, NY}¢ Ij¡^], ^]SpL Sy×x|¤ 

 y]ðU, SNcLeOW¥ IÐ]vàV y¡¨L¡ yUnLvj j¤WOU.
3. RBI c]^]ã¤ qPk Avfq]Õ]¨OÐO.
4. NY}¢ C¢NlLNy›WV\r]jLp] v]nv yoLzqe¾]jLp] SyLvr]¢ NY}¢ SmLºOW¥  

kOrRÕaOv]¨OU.

  wq]pLp D¾qU f]qR´aO¨OW.
A) 1, 2 and 4   B) 1 and 3 
C) 2 and 3   d) oOWt]¤ kr´vRpsæLU

13. nqeZajL AyUmæ] qPk}Wq]\ÿfV __________ R£ v|vòW¥/j]¡SÇw°¥  
AjOyq]\ÿLeV. 
A) KmV^ã}vV RrysPx¢, 1946 B) WLm]jãV o]x¢ kæL¢, 1946
C) Yv¦Ro£V KLlV CÍ| BW›V, 1935 d) CÍ|¢ C¢c]Rk¢c¢yV BW›V, 1947

14. qL^|ynRp¨Or]\ÿOç CT NkñLvjW¥ kq]Ye]¨OWpOU wq]pLp yUSpL^jU  
WRº¾OWpOU R\áOW.
i. qL^|yn nLY]WoLp] f]qR´aO¨ÕŸ KqO òLkjoLeV.
ii. yUòLj°¥¨V NkLf]j]i|U j¤WOW.
iii. BrV v¡xR¾ WLsLvi] By~h]¨OÐO.
iv. RRvyV Nky]c£LeV Af]R£ IWVyV Kl}Sx|L R\p¡oL¢.
A) ii and iv IÐ]v wq]pLeV B) i, ii and iv IÐ]v wq]pLeV
C) i, ii and iii IÐ]v wq]pLeV d) IsæLU wq]pLeV

15. SsLWVynp]sOU yUòLj j]poyn AyU‡]p]sOU BSYæL&CÍ|¢ yoOhLp¾]jOç 
 y}ãV yUvqeU __________ nqeZajL SnhYf] j]poU fa´O.

A) 104 B) 103 C) 102 d) 101

16. GST WT¦y]s]Rs AUY°¥ BeV 
i. NkiLjoNÍ]
ii. SWNÎ ijoNÍ]
iii. SWNÎ ijWLq| yzoNÍ]
iv. yUòLj¾]R£ ijoNÍ]oL¡ ARsæË]¤ SjLo]j] 
A) oOWt]¤ kr´vRpsæLU B) i, ii and iv only
C) ii, iii and iv only   d) i, iii and iv only

17. KqO RkLfO Ai]WLq] ARsæË]¤ KqO DSh|LYòR£ D¾qvLh]¾U j]¡vÿz]¨L¾fO 
oPsU oRãLqL¥¨V kq]S¨¤Õ]¨RÕaOÐf]jV If]Rq kOrRÕaOv]\ÿ r]ŸV.
A) Szm]pyV SWL¡ÕyV  B) oL¢coyV
C) j]SqLijU  d) Ry¡Ÿ]SpLrr]
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18. Which of the following statement(s) is/are incorrect in connection to National 
Commission for Scheduled Tribes (NCST) ?

i. Constituted through the 89th Constitutional Amendment Act, 2003.

ii. The Chairman and Vice Chairman have been conferred the rank of Union Cabinet 
minister and minister of State respectively.

iii. Empowered to investigate and monitor all matters relating to the safeguards provided 
for the community.

A) i and ii only   B) ii and iii only

C) All the above   d) None of the above

19. The Central Sector Scheme launched in 2020 to provide the record of rights to 
village household owners possessing houses in inhabited rural areas in villages and 
issuance of property cards to the property owners is

A) SVAmITVA   B) Rashtriya Gram Swaraj Abhiyan

C) Gram Panchayat development Plan d) e-Panchayat

20. Consider the following and identify the correct statement(s) about Kerala State 
Industrial development Corporation (KSIdC).

i. Premier agency of the State mandated to for industrial and investment promotion.

ii. The primary objective was to promote, facilitate and finance large and medium scale 
industries.

iii. The one-stop-shop for any investment in Kerala.

iv. Catalyze the development of physical and social infrastructure required for industrial 
growth.

A) i, ii and iii only   B) i, iii and iv only

C) i, ii and iv only   d) All the above

21. The new initiative associated with the ‘State Old Age Policy 2013’ (Kerala) to convert 
all Panchayats into age friendly one for ensuring good health, participation and 
assuring quality of life to senior citizens is

A) Vayo Amrutham   B) Vayomithram

C) Age Friendly Panchayat d) All the above

22. The network of effective Common Service Centers (CSC) envisioned to deliver a 
multitude of G2C, G2B as well as B2C services to the public under a single roof in 
Kerala

A) E-Governance   B) e-districts

C) Akshaya   d) FRIENdS
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18. Shw}p kŸ]Wv¡« WÚ}xjOoLp] (NCST) mÌRÕŸV fLRuÕrpOÐ NkñLvjWt]¤  
JfLeV RfãV ?
i. 2003&Rs nqeZaj 89&LU SnhYf] j]poU vu] qPk}Wq]\ÿfV.
ii. R\p¡oLjOU RRvyV R\p¡oLjOU pgLNWoU SWNÎ WLm]jãV oNÍ], yzoNÍ] IÐ} 

 khv]W¥ j¤W] Bhq]\ÿ]ŸOºV.
iii. WÚ|Pe]ã]¨Lp] j¤W]p]ŸOç yOqƒLyUv]iLj°tOoLp] mÌRÕŸ IsæL WLq|°tOU 

ASj~x]¨LjOU j]q}ƒ]¨LjOoOç Ai]WLqU.
A) i and ii only   B) ii and iii only
C) oOWt]¤ kr´RfsæLU  d) oOWt]¤ kr´v KÐOosæ

19. NYLo°t]Rs ̂ jvLyoOç NYLoNkShw°t]¤ v}aOW¥ RRWvwU vàOÐ v]Ssæ^V zTyV 
DaoW¥ V̈ AvWLw°tORa SqX j¤WOÐf]jOU  vñO DaoW¥ V̈ SNkLÕ¡Ÿ] WL¡cOW¥ 
j¤WOÐf]jOoLp] 2020&¤ BqUn]\ÿ SWNÎSoXsL kÈf].
A) y~Lo]f~  B) qLNì}p NYLo y~qL^V An]pL¢
C) NYLokµLp¾V v]Wyj kÈf] d) C&kµLp¾V

20. fLRuÕrpOÐv kq]Ye]¨OWpOU SWqt SðãV C¢cNy›]p¤ RcvskVRo£V  
SWL¡ÕSrxRj (KSIdC) WOr]\ÿOç wq]pLp NkñLvj(W¥) f]q]\ÿr]pOWpOU 

 R\áOW.
i. v|vyLp]W, j]Sƒk SNkLÃLzj¾]jLp] yUòLj¾]R£ Nk}o]p¡ J^¢y]  

j]¡mÌ]foLp].
ii. v¢W]a, Ca¾qU v|vyLp°Rt SNkLÃLz]Õ]¨OW, yOYooL¨OW, ijyzLpU  

j¤WOW IÐ]vpLp]qOÐO NkLgo]W sƒ|U. 
iii. SWqt¾]Rs JfV j]Sƒk¾]jOU IW^LsW yTWq|U.
iv. v|LvyLp]W vt¡\ÿàV Bvw|oLp nTf]WvOU yLoPz]WvOoLp Aa]òLj  

yTWq|°tORa v]WyjU DS¾^]Õ]¨OW.
A) i, ii and iii only   B) i, iii and iv only
C) i, ii and iv only   d) oOWt]¤ kr´v IsæLU

21. oOf]¡Ð kTqÓL¡¨V jsæ BSqLY|U, kËLt]¾U, ^}v]f j]svLqU DrÕL¨¤ IÐ]
vàLp] IsæL kµLp¾OWRtpOU vSpL^j yTzQhoL¨] oLãOÐf]jOç yUòLj 
vSpL^j jpU 2013 (SWqtU) oLp] mÌRÕŸ kOf]p yUqUnU
A) vSpL AoQfU   B) vSpLo]NfU
C) vSpL^j yTzQh kµLp¾V d) oOWt]¤ kr´RfsæLU 

22. lsNkhoLp SWLo¦ y¡v}yV Ry£rOWtORa (CSC) RjãVv¡¨V, SWqt¾]¤ KRqLã 
So¤¨Pqp]¤ RkLfO^j°¥¨V G2C, G2B WPaLRf B2C Syvj°tOU I¾]¨L¢ 
v]nLvjU R\áOÐO. 
A) C&YSve¢yV  B) C&^]ŠW¥
C) Aƒp  d) FRIENdS
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23. The lok Ayukta and Upa lok Ayukta are appointed as per the recommendations of 
A) The Chief minister and the leader of Opposition
B) The Governor and the Chief minister
C) The Chief minister and the Chief Justice of the High Court
d) The Chief minister, the Speaker of the legislature and the leader of opposition 

24. match the following.
i. ImPACT KERAlA a. Company for asset creation
ii. JnNURm  b. Plan monitoring software
iii. KIlA c. Sustainable Urban Infrastructure Service
iv. Sulekha d. Capacity building for local governance
A) i – a, ii – c, iii – d and iv – b B) i – b, ii – c, iii – d and iv – a
C) i – b, ii – d, iii – a and iv – c d) i – b, ii – a, iii – d and iv – c

25. Identify the group of States with two lok Sabha seats each from the following.
A) Tripura, Arunachal Pradesh, manipur and Goa
B) manipur, Goa, Himachal Pradesh and mizoram
C) meghalaya, Tripura, Himachal Pradesh and Sikkim   
d) mizoram, Nagaland, manipur and Sikkim

26. Anti-pellagra Vitamin is 
A) B1 B) B3 C) B12 d) Vitamin C

27. Schwann cells are part of
A) Neuron   B) muscles
C) Alimentary canal   d) Kidney

28. Which of the following disease is transmitted by an insect vector ?
A) AIdS B) Tuberculosis C) malaria d) None of the above

29. The Greenhouse gases include
A) CH4 B) CO2 C) NO2 d) All the above

30. Which of the following statement(s) is/are correct, relating to Parkinson’s disease, 
which was recently in news ?
i. Is a degenerative disorder.
ii. Is a respiratory disease.
iii. Results due to malfunctioning and death of nerve cells.
A) Only i   B) Only ii
C) Only i and iii   d) All the above (i, ii and iii)
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23. SsLWLpO©RppOU Dk SsLWLpO©RppOU j]po]¨OÐfV _________R£ wOkL¡wW¥ 
NkWLqoLeV. 
A) oOX|oNÍ]pOU Nkf]kƒ SjfLvOU
B) Yv¡erOU oOX|oNÍ]pOU
C) oOX|oNÍ]pOU RRzS¨Laf] \}lV ^ð]yOU
d) oOX|oNÍ], j]poynL y×}¨¡, Nkf]kƒ SjfLvV 

24. fLRuÕrpOÐv S\qOUka] S\¡¨OW.
i. CÒLûV SWqt a. AyãV yQì]¨OÐf]jOç WÒj]
ii. JnNURm  b. †L¢ SoLe]ãr]UYV SyLlVãVRvp¡
iii. KIlA c. yOò]q jYq Aa]òLj yTWq| SyvjU
iv. yOSsX d. NkLShw]W nqe¾]jOç Swx] v¡È]Õ]¨OW
A) i – a, ii – c, iii – d, iv – b  B) i – b, ii – c, iii – d, iv – a
C) i – b, ii – d, iii – a, iv – c  d) i – b, ii – a, iii – d, iv – c

25. fLRuÕrpOÐvp]¤ j]ÐV qºV SsLWVynL y}ãOW¥ v}foOç yUòLj°tORa NYPÕV  
f]q]ˆr]pOW.
A) Nf]kOq, AqOeL\¤NkShwV, oe]ÕP¡, SYLv
B) oe]ÕP¡, SYLv, z]oL\¤NkShwV, o]SyLrLU
C) SoZLsp, Nf]kOq, z]oL\¤NkShwV, y]¨]U  
d) o]SyLrLU, jLYLsL¢cV, oe]ÕP¡, y]¨]U

26. B£] RkŠNY v]ãLo]¢ BeV
A) B1 B) B3 C) B12 d) v]ãLo]¢ C

27. x~L¢ JfV RyŠOWtORa nLYoLeV ?
A) j|PSrL¦  B) Skw]W¥ 
C) As]Ro£r] WjL¤   d) vQ¨

28. fLRuÕrpOÐvp]¤ JfV SqLYoLeV AjOvLzW¡ vu] kWqOÐfV ?
A) IpVcVyV  B) ƒpU 
C) oSsr]p   d) oOWt]¤ kr´v KÐOoŠ

29. Cvp]¤ JRfLR¨ zq]fYQz vLfW°t]¤ D¥RÕaOÐfV ?
A) CH4  B) CO2 
C) NO2  d) oOWt]¤ kr´vRpŠLU

30. AaO¾]Ra vL¡¾Wt]¤ CaU Sja]p kL¡¨]¢y¦yV c]y]yOoLp] mÌRÕŸ   
fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?
i. KqO c}^jSrã}vV c]SyL¡c¡ BeV.
ii. KqO w~LySWLw SqLYoLeV.
iii. jLc}SWLw°tORa fWqLrOU oqevOU oPsoLeV yUnv]¨OÐfV.
A) Only i   B) Only ii
C) Only i and iii   d) oOWt]¤ kr´vRpŠLU (i, ii and iii)
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31. Which among the following is/are example for life style disease ?
i. Obesity
ii. Type 2 diabetes
iii. Botulism
A) Only i   B) Only i and ii
C) Only ii and iii   d) All the above (i, ii and iii)

32. ‘Snehapoorvam’ scheme envisages
A) To identify and support orphaned children in the community
B) To assist the care givers of disabled, bedridden patients
C) Financial assistance to the bedridden Endosulfan victims
d) None of the above

33. In a class test, 15 students got marks more than 50, 23 got marks less than 50 but 
more than 10 and the remaining 12 students scored less than 10. What percentage 
of students have got marks between 10 and 50 ?
A) 30% B) 46% C) 24% d) 50%

34. The present ages of A, B, C are in the ratio 1 : 2 : 3. Before 10 years, C was 50 years 
old. How much will be the age of A after 10 years ?
A) 30 B) 40 C) 50 d) 60

35. A tap fills a water tank in 2 hours. A leak at the bottom of the tank empties it in  
3 hours. Both were opened for 1 hour after that the leak has closed. By how much 
time will the tank fill ?
A) 3 hours 30 minutes   B) 3 hours 40 minutes
C) 2 hours 30 minutes   d) 2 hours 40 minutes

36. Which is the 10th two digit number that leaves a remainder 1 when divided by 5 ?
A) 61 B) 56 C) 51 d) 46

37. distance between two places A and B is 100 km. A car travels from A to B covers the 
first 40 km in an average speed of 60 km/hr and the rest of the journey in an average 
speed 45 km/hr. What is the average speed of the car in the entire journey ?
A) 52.5 km/hr B) 60 km/hr C) 50 km/hr d) 55 km/hr

38. The missing term in the series “ABC, CZG, FWm, ____” is
A) JST B) JSO C) IUS d) HVl

39. What is the angle between the hour and minute hands of a clock showing the time 
9.10 ?
A) 140° B) 145° C) 150° d) 155°
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31. fLRuÕrpOÐvp]¤ JfLeV ^}v]fRRws] SqLY¾]jV DhLzqeU ?
i. Ao]fv¹U
ii. RRaÕV 2 NkSozU
iii. SmLŸOs]yU
A) Only i   B) Only i and ii
C) Only ii and iii   d) oOWt]¤ kr´vRpŠLU (i, ii and iii)

32. "SyÔzkP¡‹U' kÈf] v]nLvjU R\áOÐfV
A) WÚ|Pe]ã]p]Rs AjLgqLp WOŸ]WRt f]q]ˆr]pLjOU k]ÍOeàLjOU
B) v]WsLUY¡, W]aÕ]sLp SqLY]WRtpOU k]ÍOeàLjOU
C) W]aÕ]sLp I¢ScLy¥lL¢ hOq]fmLi]f¡¨V ijyzLpU
d) oOWt]¤ RWLaO¾]q]¨OÐf]¤ KÐOoŠ

33. KqO „LôV kq}ƒp]¤ 15 Sk¡¨V 50&¤ WPaOf¤ oL¡¨V sn]ˆO. 23 Sk¡¨V 50&¤ fLRu 
IÐL¤ 10&¤ WPaOf¤ oL¡¨V sn]ˆO, mL¨] 12 v]h|L¡À]W¥¨V 10&¤ fLRu oL¡¨V 
sn]ˆO. INf wfoLjU v]h|L¡À]W¥¨V 10&jOU 50&jOU Cap]¤ oL¡¨V sn]ˆO ?
A) 30% B) 46% C) 24% d) 50%

34. A, B, C IÐ]vqORa CSÕLuR¾ NkLpU 1 : 2 : 3 IÐ AjOkLf¾]sLeV. 10 v¡x¾]jV
oOÒV C ¨V 50 vpôLp]qOÐO. 10 v¡x¾]jO SwxU A pORa NkLpU INfpLWOU ?
A) 30 B) 40 C) 50 d) 60

35. KqO aLÕV  2 oe]¨P¡RWLºV KqO vLŸ¡ aLË]¤ j]rpOÐO. aLË]R£ Aa]p]sOç KqO S\L¡ˆ  
3 oe]¨Pr]jOç]¤ AfV wPj|oL¨OÐO. qºOU KqO oe]¨P¡ fOrÐ SwxU S\L¡ˆ 
AaˆO. INf yopU RWLºV aLËV j]rpOU ?
A) 3 oe]¨P¡ 30 o]j]ãV  B) 3 oe]¨P¡ 40 o]j]ãV
C) 2 oe]¨P¡ 30 o]j]ãV  d) 2 oe]¨P¡ 40 o]j]ãV

36. 5 RWLºV zq]¨OSÒL¥ 1 Swx]¨OÐ10&LUoR¾ qº¨ yUX| JfLeV ? 
A) 61 B) 56 C) 51 d) 46

37. A, B  IÐ} qºV òs°¥ fÚ]sOç hPqU 100 km BeV. A oOf¤ B vRqpOç KqO WL¡ 
Bh|R¾ 40 km wqLwq] 60 km/hr SvY¾]sOU mL¨]pOç pLNf wqLwq] 45 km/hr 
SvYfp]sOU yµq]¨OÐO. oOuOv¢ pLNfp]sOU WLr]R£ wqLwq] SvYf INfpLeV ?
A) 52.5 km/hr B) 60 km/hr C) 50 km/hr d) 55 km/hr

38. “ABC, CZG, FWm, ____” IÐ kqÒqp]Rs WLeLfLp khU JfV ?
A) JST B) JSO C) IUS d) HVl

39. yopU 9.10 WLe]¨OÐ KqO S„L¨]R£ oe]¨PrOU o]j]ãOU fÚ]sOç SWL¦ 
 INfpLeV ?

A) 140° B) 145° C) 150° d) 155°
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40. Which is the missing number in the series 6, 30, 20, 130, ____ ?
A) 38 B) 40 C) 42 d) 222

41. Beginning from the point A, Raju walks 100 m towards east, then turns right and 
walks 50 m, again turns right and walks 50 m, then turns left and walks 50 m and 
finally turns right and walks 50 m and stopped. How far is now Raju from A ?
A) 50 m B) 150 m C) 200 m d) 100 m

42. What is the value of 25 + 35 ÷ – 7 – (45 × 2) + 30 × 4 ?
A) 90 B) 50 C) – 30 d) – 160

43. The right of private defence of property extends to the voluntary causing of death of 
the wrong-doer, if the offence is 
A) Robbery   B) House-breaking by night
C) Theft   d) All the above

44. Which of the following kind of hurt is designated as “grievous hurt” ?
A) Emasculation
B) Permanent privation of the sight of either eye
C) Both A and B
d) None of the above

45. A obstructs a path along which Z has a right to pass. A not believing in good faith 
that he has a right to stop the path. Z is thereby prevented from passing. A has 
committed the offence of 
A) Wrongful restraint   B) Wrongful confinement
C) Wrongful confinement and restraint D) None of the above

46. A obtains property from Z by saying - “your child is in the hands of my gang, and will 
be put to death unless you send us ten thousand rupees”. A has committed the offence 
of 
A) Extortion B) Robbery C) dacoity d) Theft

47. A man shall be guilty of the offence of sexual harassment under Section 354A of 
Indian Penal Code, 1860, if he commits :
i. Physical contact and advances involving unwelcome and explicit sexual overtures.
ii. A demand or request for sexual favours.
iii. Showing pornography against the will of a woman.
iv. making sexually coloured remarks.

A) i only B) Both i and ii C) i, ii and iii d) i, ii, iii and iv
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40. 6, 30, 20, 130, ____ IÐ kqÒqp]Rs WLeLfLp jÒ¡ JfLeV ?
A) 38 B) 40 C) 42 d) 222

41. A SkLp]£]¤ j]ÐV BqUn]ˆV, qL^O 100 m W]uS¨LŸV ja¨OÐO. fOa¡ÐV vsS¾¨V 
 f]q] V́ 50 m ja¨OÐO,  v}ºOU vsS¾ V̈ f]q] V́ 50 m ja¨OÐO, fOa¡ÐV CaS¾ V̈ 

f]q]´V 50 m jaÐV KaOv]¤ vsS¾¨V f]q]´V 50 m jaÐV j]¡¾]. A p]¤ j]ÐV qL^O 
CSÕL¥ INf AWRspLeV ?
A) 50 m B) 150 m C) 200 m d) 100 m

42. 25 + 35 ÷ – 7 – (45 × 2) + 30 × 4 R£ oPs|U IÍLeV ?
A) 90 B) 50 C) – 30 d) – 160

43. y~¾]R£ y~WLq| Nkf]SqLi¾]jOç AvWLwU, RfãV R\áOÐpLtORa y~SoipL 
oqe¾]jV WLqeoLWOÐfV vRq j}tOÐORvË]¤ WOãWQf|U ?
A) Wv¡ˆ  B) qLNf]p]¤ v}aV fW¡¨¤
C) SoLxeU  d) oOWt]¤ kr´vRpŠLU

44. fLRuÕrpOÐvp]¤ JfLeV ""YOqOfqoLp oOr]vV '' IÐV j]SpLY]¨RÕŸ]q]¨OÐfV ?
A) IoLØOSsx¢
B) CqO W¹OWtORapOU WLuV\pORa ò]qoLp jìU
C) A, B IÐ]v
d) oOWt]¤ kr´v KÐOoŠ

45. Z&jV WaÐO SkLWL¢ AvWLwoOç KqO kLfRp A faôRÕaO¾OÐO. kLf fapL¢ 
fj]¨V AvWLwoORºÐV A v]w~y]¨OÐ]Š. Z AfOvu] WaÐOSkLWOÐfV fap 
RÕaOÐO. A j]posUZjU ja¾]p]ŸOºV.
A) RfãLp j]pNÍeU   B)  RfãLp fap¤
C) RfãLp fapsOU j]pNÍevOU d)  oOWt]¤ kr´v KÐOoŠ

46. ""j]°tORa WOŸ] IR£ yUZ¾]R£ RRWp]sLeV, kf]jLp]qU qPk Apˆ]RŠË]¤ 
RWLŠRÕaOU'' IÐV kr´ORWLºV A, Z-¤ j]ÐV y~¾V SjaOÐO. A ja¾]p j]po 
sUZjU ?
A) RWLçpa]¨¤ B) Wv¡ˆ C) cS¨Lp]ã] d) SoLxeU

47. KqO kOqOx¢ CfV R\pÅL¤ 1860&Rs CÍ|¢ w]ƒLj]po¾]Rs 354 A vWOÕV NkWLqoOç 
RRsUY]W k}cj WOã¾]jV WOã¨LqjLp]q]¨OU. 
i. wLq}q]W yÒ¡¨vOU An]WLo|oŠL¾fOU y×ìvOoLp RRsUY]WLn]NkLp°¥ D¥RÕaOÐ 

oOSÐã°¥.
ii. RRsUY]W BjOWPs|°¥¨LpOç KqO Bvw|U ARŠË]¤ An|¡Àj.
iii. KqO Nñ}pORa Cì¾]jV v]qOÈoLp] A˜}s \]Nf°¥ WLe]¨OÐO.
iv. RRsUY]W j]roOç kqLo¡w°¥ ja¾OÐO.
A) i only B) i and ii C) i, ii and iii d) i, ii, iii and iv
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48. “Warrant-case” means

i. A case relating to an offence punishable with death.

ii. A case relating to an offence punishable with imprisonment for life.

iii. A case relating to an offence punishable with imprisonment for a term exceeding two 
years.

iv. Case relating to an offence, and not being a summons case.

A) i only   B) i and ii 

C) i, ii and iii   d) i, ii, iii and iv

49. The Executive magistrate can require a person to show cause why he should not be 
ordered to execute a bond with sureties for his good behaviour

A) if he habitually commits or attempts to commit, or abets the commission of,  
the offence of kidnapping, abduction, extortion

B) if he habitually commits or attempts to commit, or abets the commission of,  
the offence of cheating or mischief

C) if he habitually commits or attempts to commit, or abets the commission of,  
the offence of any offence punishable under Section 489A, Section 489B, Section 489C 
or Section 489d of Indian Penal Code

d) All the above

50. Right of arrested person to meet an advocate of his choice during interrogation is 
contained in

A) Section 41   B) Section 41 A 

C) Section 41 C   d) Section 41 d

51. Any police officer may without an order from a Magistrate and without a warrant, 
arrest any person, if he is satisfied that 
i. such arrest is necessary to prevent the person from committing any further offence.

ii. such arrest is necessary for proper investigation of the offence.

iii. such arrest is necessary to prevent the person from causing the evidence of the 
offence to disappear or tampering with such evidence in any manner.

iv. such arrest is necessary to prevent the person from making any inducement, threat 
or promise to any person acquainted with the facts of the case so as to dissuade him 
from disclosing such facts to the Court or to the police officer.

A) i and ii are correct   B) iii and iv are correct

C) i, ii, iii and iv are correct d) None of these
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48. ""vLr£V&SWyV '' IÐL¤

i. viw]ƒ sn]¨LvOÐ WOãvOoLp] mÌRÕŸ SWyV.

ii. ^}vkq|ÍU favOw]ƒ sn]¨LvOÐ WOãoLp] mÌRÕŸ SWyV.

iii. qºV v¡x¾]¤ WPaOf¤ favV w]ƒ sn]¨LvOÐ WOãoLp] mÌRÕŸ SWyV.

iv. KqO WOãWQf|vOoLp] mÌRÕŸ SWyV, yo¢yV SWyV AŠ.

A) i only B) i and ii C) i, ii and iii d) i, ii, iii and iv

49. fLRu krpOÐvp]¤ IWõ]W|PŸ}vV o^]SNy›ã]jV KqO v|©]SpLaV fR£ jŠ RkqOoLã¾]jV 
^Lo|¨LqOoLp] SmLºV jaÕ]sL¨L¢ D¾qv]aqORfÐf]R£ WLqeU

A) fŸ]R¨LºOSkLW¤, RWLçpa]¨¤ fOa°]p WOãWQf|°¥ Av¢ kf]vLp] 
 R\áOWSpL R\áL¢ èo]¨OWSpL Af]jV yzLp]¨OWSpL R\áOWpLReË]¤

B) vµjpORaSpL SNhLz¾]R£SpL WOãWQf|U Av¢ kf]vLp] R\áOWSpL 
 R\áL¢ èo]¨OWSpL Af]jV yzLp]¨OWSpL R\pÅL¤

C) CÍ|¢ w]ƒL j]po¾]Rs Ryƒ¢ 489 A, Ryƒ¢ 489 B, Ryƒ¢ 489 C ARŠË]¤  
Ryƒ¢ 489 d IÐ]v NkWLqU w]ƒL¡zoLp JRfË]sOU  WOãWQf|U ApL¥ ò] 
qoLp] R\áOWSpL R\áL¢ èo]¨OWSpL Af]jV  yzLp]¨OWSpL R\pÅL¤

d) oOWt]¤ kr´vRpŠLU

50. S\Lh|U R\ás]j]Ra fj]¨V CìoOç An]nLxWRj WLeL¢ Arð]sLp v|©]pORa 
AvWLwU Aa°]p]q]¨OÐ vWOÕV.

A) vWOÕV 41 B) vWOÕV 41 A C) vWOÕV 41 C d) vWOÕV 41 d

51. KqO o^]SNy›ã]R£ D¾qv]ŠLRfpOU vLr£]ŠLRfpOU JRfLqO SkLs}yOWLqjOU fQkÅ]
RÕŸL¤ KqLRt ArðV R\áLU.

i. B v|©] WPaOf¤ WOãWQf|U R\áLf]q]¨L¢ A¾qU ArðV Bvw|oLeV.

ii. WOãWQf|¾]R£ wq]pLp ASj~xe¾]jV A¾qU ArðV Bvw|oLeV.

iii. WOãWQf|¾]R£ Rft]vOW¥ ANkf|ƒoLWOÐf]¤ j]ÐOU ARŠË]¤ JRfË]sOU 
 v]i¾]¤ A¾qU Rft]vOW¥ jw]Õ]¨OÐf]¤ j]ÐOU v|©]Rp fapOÐf]jV A¾qU 

ArðV Bvw|oLeV.

iv. A¾qU vñOfW¥ SWLaf]p]SsL SkLs}yV DSh|LYòSjLSaL Rvt]RÕaO¾OÐf]¤ 
 j]ÐV ApLRt k]Í]q]Õ]¨OÐf]jV, SWy]R£ vñOfW¥ kq]\poOç JRfË]sOU 

v|©] V̈ IRÍË]sOU SNkqeSpL n}xe]SpL vLYÉLjSoL j¤WOÐf]¤ j]ÐV fapOÐf]jV 
A¾qU ArðV Bvw|oLeV.

A) i, ii wq]pLeV  B) iii, iv wq]pLeV

C) i, ii, iii, iv IÐ]v wq]pLeV d) CvRpLÐOoŠ
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52. Which of the following statements is/are correct ?
A) Inquiry means every inquiry other than a trial conducted under the Code of Criminal 

Procedure by a magistrate or Court.
B) Inquiry includes all the proceedings under the Code of Criminal Procedure for the 

collection of evidence conducted by a magistrate.
C) Inquiry means every inquiry including a trial conducted under the Code of Criminal 

Procedure by a magistrate or Court.
d) All the above

53. Which of the following statements is/are correct with reference to Section 43 (a) of 
the IT Act ?
i. Section 43 (a) creates liability for compensation in the case of access to a computer.
ii. Section 43 (a) creates liability for compensation in case of securing access to a 

computer.
iii. Section 43 (a) creates liability for compensation in case of damage to a computer.
iv. Section 43 (a) creates liability for compensation in case of disruption to a 

computer.

A) Only i   B) Only i and ii 
C) Only iii   d) Only iii and iv

54. Electronic Serial Number (ESN) and System Identification Code (SIC) are covered 
by the term “computer source code”.
A) True   
B) False 
C) Neither true nor false   
d) None of the above

55. The words “dishonestly” and “fraudulently” are defined in
A) General Clauses Act, 1897 B) Information Technology Act, 2000
C) Indian Penal Code, 1860 d) None of the above

56. Choose the correct match.
1. Section 66 B of IT Act a. Stolen Computer Resource
2. Section 66 C of IT Act  b. Privacy
3. Section 66 d of IT Act c. Identity Theft
4. Section 66 E of IT Act d. Cheating by Personation

A) 1 – a, 2 – b, 3 – c, 4 – d B) 1 – a, 2 – c, 3 – b, 4 – d
C) 1 – c, 2 – d, 3 – b, 4 – a d) 1 – a, 2 – c, 3 – d, 4 – b
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52. fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

A) ASj~xeU IÐL¤ IŠL ASj~xevOU A¡ÀoL¨OÐO. KqO o^]SNy›SãL SWLaf]SpL  
ja¾OÐ NW]o]j¤ jaka]ˆŸ NkWLqU ja¾OÐ v]\LqeSp¨L¥.

B) KqO o^]SNy›ãV ja¾OÐ Rft]vOW¥ SwXq]¨OÐf]jOç NW]o]j¤ jaka] \ŸNkWLqoOç 
IŠLU jaka]WtOU ASj~xe¾]¤ D¥RÕaOÐO.

C) KqO o^]SNy›SãL SWLaf]SpL ja¾OÐ NW]o]j¤ jaka]ˆŸ¾]jV W}u]¤ ja¾OÐ 

 v]\Lqe D¥RÕRapOç IŠL ASj~xevOU ASj~xeoLeV.

d) oOWt]¤ kr´vRpŠLU

53. IT Bû]Rs Ryƒ¢ 43 (a) kqLo¡w]ˆV fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?

i. Ryƒ¢ 43 (a) KqO WÒ|PŸr]Ss¨Oç NkSvwj¾]R£ WLq|¾]¤ jìkq]zLq¾] 
jLpOç mLi|f yQì]¨OÐO.

ii. Ryƒ¢ 43 (a) KqO WÒ|PŸr]Ss¨Oç NkSvwjU DrÕL¨OÐ yLz\q|¾]¤ jìkq]
zLq¾]jOç mLi|f yQì]¨OÐO.

iii. Ryƒ¢  43 (a) KqO WÒ|PŸr]jV SWaOkLaOW¥ yUnv]ˆL¤ jìkq]zLq¾]jOç mLi|f 
yQì]¨OÐO.

iv. Ryƒ¢ 43 (a) KqO WÒ|PŸr]jV faôU Sjq]ŸL¤ jìkq]zLq¾]jV mLi|f   
yQì]¨OÐO.

A) Only i B) Only i and ii C) Only iii d) Only iii and iv

54. CsSNûLe]WV y}q]p¤ jÒrOU (ESN) y]ðU RIc£]l]S¨x¢ SWLcOU (SIC) WÒ|PŸ¡ 
SyLuõV SWLcV '' IÐ kh¾]¤ D¥RÕaOÐO. 

A) wq]pLeV  B) RfãLeV 

C) wq]SpL RfSãL AŠ d) oOWt]¤ kr´v KÐOoŠ

55. ""yf|yÌfp]ŠL¾'', ""vµjSpLRa'' IÐ} vL¨OW¥ j]¡‹\]ˆ]q]¨OÐfV

A) ^jr¤ S„LyôV BûV, 1897 B) C¢l¡Sox¢ RaWVSjLt^] BûV, 2000

C) CÍ|¢ k}j¤ SWLcV, 1860 d) oOWt]¤ kr´v KÐOoŠ

56. wq]pLp S^Lc] WRº¾OW. 

1. RIa] Bû]Rs Ryƒ¢ 66 B a. SoLì]ˆ WÒ|PŸ¡ Drv]aU

2. RIa] Bû]Rs Ryƒ¢ 66 C   b. y~WLq|f

3. RIa] Bû]Rs Ryƒ¢ 66 d c. RIc£]ã] SoLxeU

4. RIa] Bû]Rs Ryƒ¢ 66 E d. v|©]f~¾L¤ vµj

A) 1 – a, 2 – b, 3 – c, 4 – d B) 1 – a, 2 – c, 3 – b, 4 – d

C) 1 – c, 2 – d, 3 – b, 4 – a d) 1 – a, 2 – c, 3 – d, 4 – b
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57. “Access” means
i. Gaining entry into a computer, computer system or computer network.
ii. Instructing the logical, arithmetical or memory function resources of a computer, 

computer system or computer network.
iii. Communicating with the logical, arithmetical or memory function resources of a 

computer, computer system or computer network.
iv. disruption of any computer network.
A) All of the above   B) Only i, ii and iii 
C) Only iv   d) Only ii and iii

58. Which of the propositions among the following is not correct ?
1. Right to Information is a Fundamental Right.
2. Right to Information is antithetical to Transparency and Accountability.
3. Information can exist in any form.
4. Right to Information does not include information relating to any private body which 

can be accessed by a public authority under any law in force.
A) Only 1 and 2 are not correct B) Only 3 is not correct
C) Only 3 and 4 are not correct d) Only 4 is not correct

59. “Right to Information Act, 2005 takes into account the interests of copyright of a 
person other than the State.” The statement is
A) True   B) False 
C) Neither true nor false   d) None of the above

60. Public Information Officer is required to make a decision under Section 9 of RTI Act, 
2005 within
A) 30 days B) 40 days C) 50 days d) 60 days

61. Certification practice statement specifying the practices that the Certifying Authority 
employs in issuing electronic signature certificates is issued by which of the following 
entities ?
A) Certifying Authority   B) Central Government
C) Cyber Emergency Response Team d) National Informatics Centre

62. Any person, who on behalf of another person with respect to any particular electronic 
record, receives, stores or transmits that record, is 
A) A subscriber   B) An intermediary
C) A hacker   d) An addressee
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57. “NkSvwjU” IÐL¤
i. KqO WÒ|PŸ¡, WÒ|PŸ¡ y]ðU ARsæË]¤ WÒ|PŸ¡ RjãVv¡¨]Ss¨V NkSvwjU 

SjaOÐO.
ii. KqO WÒ|PŸ¡, WÒ|PŸ¡ y]ðU ARsæË]¤ WÒ|PŸ¡ RjãVv¡¨V IÐ]vpORa SsL^]¨¤, 

Ye]f ARsæË]¤ RoÚr] lUYVx¢ Drv]a°¥ j]¡SÇw]¨OÐO.
iii. KqO WÒ|PŸ¡, WÒ|PŸ¡ y]ðU ARsæË]¤ WÒ|PŸ¡ RjãVv¡¨V IÐ]vpORa SsL^]¨¤, 

Ye]f ARsæË]¤ RoÚr] lUYVx¢ Drv]a°tOoLp] Bwpv]j]opU ja¾OÐO.
iv. JRfË]sOU WÒ|PŸ¡ RjãVv¡¨]R£ faôU.
A) oOWt]¤ kr´vRpsæLU B) Only i, ii and iii 
C) Only iv   d) Only ii and iii

58. fLRuÕrpOÐvp]¤ JfV j]¡SÇwoLeV wq]psæL¾fV ?
1. v]vqLvWLwU oTs]WLvWLwoLeV.
2. v]vqLvWLwU yOfLq|fàOU D¾qvLh]¾¾]jOU v]qOÈoLeV.
3. v]vq°¥ JfV qPk¾]sOU j]sj]¤¨OU.
4. j]sv]sOç JRfË]sOU j]po¾]jV W}u]¤ KqO RkLfO ASfLr]ã] V̈ BWõyV R\áL¢ Wu]

pOÐ JRfË]sOU y~WLq| òLkjvOoLp] mÌRÕŸ v]vq°¥ v]vqLvWLw¾]¤ 
D¥RÕaOÐ]sæ.

A) 1 and 2 wq]psæ  B) 3 wq]psæ
C) 3 and 4 wq]psæ  d) 4 wq]psæ

59. “v]vqLvWLw j]poU 2005, yUòLjU Ku]RWpOç KqO v|©]pORa kW¡ÕvWLw¾]R£ 
fL¤Õq|°¥ We¨]RsaO¨OÐO''. NkñLvj
A) wq]  B) RfãV 
C) wq]SpL RfSãL Asæ   d) oOWt]¤ kr´v KÐOoŠ

60. 2005-Rs v]vqLvWLw j]po¾]Rs Ryƒ¢ 9 NkWLqU kmæ]WV C¢l¡Sox¢ 
 KLl}y¡ ________ jOç]¤ f}qOoLjRoaOS¨ºfOºV.

A) 30 h]vyU B) 40 h]vyU C) 50 h]vyU d) 60 h]vyU

61. CsSNW›Le]WV y]S®\ÿ¡ y¡Ÿ]l]̈ ãOW¥ j¤WOÐf]¤ y¡Ÿ]RRlp]UYV ASfLr]ã] y~}Wq]¨OÐ 
q}f]W¥ v|©oL¨OÐ y¡Ÿ]l]S¨x¢ NkLW›}yV SðãVRo£V fLRuÕrpOÐvp]¤ JfLeV 
Cx|P R\áOÐfV ?
A) y¡Ÿ]RRlp]UYV ASfLr]ã]  B)  SWNÎ y¡¨L¡ 
C)  RRym¡ Io¡^¢y] RryVSkL¦yV a}U d)  jLxe¤ C¢l¡oLã]WõV Ry£¡

62. JRfË]sOU NkSf|W CsSNW›Le]WV RrS¨L¡cOoLp] mÌRÕŸV oRãLqO v|©] V̈ Svº] 
B RrS¨L¡cV y~}Wq]¨OWSpL yUnq]¨OWSpL RRWoLrOWSpL R\áOÐ JRfLqO 
v|©]pOU ________ BeV. 
A) KqO vq]¨Lq¢  B) KqO Caj]s¨Lq¢
C) KqO zL¨¡   d) KqO v]sLy¨Lq¢
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63. Any man who monitors the use of the internet by a woman commits the offence of 
stalking unless he proves that

i. It was to prevent or detect crime and he was entrusted by the State to do it.

ii. It was pursued under any law.

iii. In the particular circumstances his conduct was reasonable and justified.

A) Only i is the correct option

B) Only i and ii are the correct options

C) Only ii and iii are the correct options

d) i, ii and iii are the correct options

64. The punishment for identity theft is provided for under

A) Section 356 of the Indian Penal Code, 1860

B) Section 353 of the Indian Penal Code, 1860

C) Section 66C of the Information Technology Act, 2000

d) Section 65 of the Information Technology Act, 2008

65. If there is a contravention of any provision of the Information Technology Act, the 
power to confiscate any compact disk related thereto is provided for under

A) Section 97 of the Indian Penal Code, 1860

B) Section 79 of the Information Technology Act, 2000

C) Section 67 of the Information Technology Act, 2008

d) Section 76 of the Information Technology Act, 2000

66. Which of these is not a part of ImSI Number ?

A) mSN B) mCC C) mNC d) mlR

67. What is meant by ImEI Number ?

A) International Mobile Equipment Identity B) Internet Monitoring Enabling Identifier

C) Initial machine Edited Image d) Initial mobile Equipment Image

68. Which of the following statements is/are true ?

i. IPv6 addresses are 128 bits long.

ii. IPv4 addresses are 64 bits long.

iii. IPv6 addresses are expressed using hexadecimal notation.

iv. 32 hexadecimal digits can completely identify an IPv4 address.

A) Only i and iii B) Only iv C) Only iii and iv d) Only i and iv
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63. KqO Nñ}pORa C£¡RjãV DkSpLYU j]q}ƒ]¨OÐ JRfLqO kOqOxjOU fLRu krpOÐv 
Rft]p]¨L¾ kƒU k]ÍOaq¤ IÐ WOãU R\áOÐO.
i. WOãWQf|°¥ fapOÐf]SjL WRº¾OÐf]SjL Bp]qOÐO AfV, AfV R\áL¢ nqeWPaU 

ASÇzR¾ \OofsRÕaO¾].
ii. JRfË]sORoLqO j]po¾]jV W}u]sLeV k]ÍOaqOÐfV.
iii. NkSf|W yLz\q|°t]¤ ASÇz¾]R£ RkqOoLãU j|LpoLp]qOÐO.
A) i oLNfoLeV wq]pLp KLkVx¢
B) i and ii IÐ]v oLNfoLeV wq]pLp KLkVxjOW¥
C) ii and iii IÐ]v oLNfoLeV wq]pLp KLkVxjOW¥
d) i, ii and iii IÐ]v oLNfoLeV wq]pLp KLkVxjOW¥

64. RIc£]ã] SoLxe¾]jOç w]ƒ ________ NkWLqU j¤W]p]q]¨OÐO.
A) Ryƒ¢ 356 CÍ|¢ w]ƒL j]poU, 1860
B) Ryƒ¢ 353 CÍ|¢ w]ƒL j]poU, 1860
C) Ryƒ¢ 66C C¢l¡Sox¢ RaWVSjLt^] BW›V, 2000
d) Ryƒ¢ 65 C¢l¡Sox¢ RaWVSjLt^] BW›V, 2008

65. C¢l¡Sox¢ RaWVSjLt^] j]po¾]Rs JRfË]sOU v|vòpORa sUZjoORºË]¤, 
AfOoLp] mÌRÕŸ JRfË]sOU SWLUkLWVãV c]ØV WºORWŸLjOç Ai]WLqU 
________ jV W}u]¤ j¤W]p]q]¨OÐO.
A) CÍ|¢ w]ƒL j]po¾]Rs 97-LU vWOÕV 1860
B) 2000-Rs C¢l¡Sox¢ RaWVSjLt^] BW›]R£ vWOÕV  79
C) 2008-Rs C¢l¡Sox¢ RaWVSjLt^] BW›]R£ vWOÕV  67
d) 2000-Rs C¢l¡Sox¢ RaWVSjLt^] BW›]R£ vWOÕV  76

66. Cvp]¤ JfLeV  ImSI jÒr]R£ nLYosæL¾fV  ?
A) mSN B) mCC C) mNC d) mlR

67. ImEI jÒ¡ IÍLeV A¡ÀoL¨OÐfV ?
A) C£¡jLxe¤ RoLRRm¤ IW|OkVRo£V RIc£]ã]
B) C£¡RjãV SoLe]ãr]‚V IRjmæ]‚V RIc£]lp¡
C) Cj]x|¤ Rox}¢ Ic]ãcV CSo^V
d) Cj]x|¤ RoLRRm¤ IW|OkVRo£V CSo^V

68. fLRuÕrpOÐ NkñLvjWt]¤ JfLeV wq] ?
i. IPv6 v]sLy°¥ 128 m]ãOW¥ j}toOçfLeV. 
ii. IPv4 v]sLy°¥ 64 m]ãOW¥ j}toOçfLeV.
iii. IPv6 v]sLy°¥ RzWõLRcy]o¤ RjLSŸx¢ DkSpLY]\ÿLeV NkWa]Õ]¨OÐfV.
iv. 32 RzWõLRcy]o¤ A¨°¥ V̈ KqO IPv4 v]sLyU kP¡¹oLpOU f]q]\ÿr]pL¢ Wu]pOU.

A) Only i and iii B) Only iv C) Only iii and iv d) Only i and iv
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69. In internet, private addresses are never routed between carriers. The usage of private 
addresses is specified in

A) RFC 1118 B) RFC 1436 C) RFC 1918 d) RFC 2131

70. The traditional method of protecting the device from ransomware attacks is no more 
suitable for IoT devices, because ___________.

Select the most appropriate answer to fill in the blank from the choices given below :

A) Such attacks originate from the dark web and cannot be protected against

B) The data in IoT devices are stored in a very scattered manner that traditional methods 
cannot be used for protection

C) The sensors used in IoT devices themselves provide the best means of protection

d) It requires more computing and resources for protection

71. The three ‘grand issues’ about behavior addressed by psychology today are :

i. Stability versus change

ii. Nature versus nurture

iii. Rationality versus irrationality

iv. Cognitive versus biological

A) i, ii, iv  B) i, ii, iii C) i, iii, iv d) ii, iii, iv

72. The three early schools suggested, respectively that psychology should study 
the structure of consciousness, the functions of consciousness or observable 
behavior

A) Structuralism, psychoanalysis and behaviorism

B) Structuralism, behaviorism and functionalism

C) Structuralism, functionalism and behaviorism

d) Functionalism, behaviorism and psychoanalysis

73. The psychophysical methods are
A) The methods of limit, constant stimuli and the staircase method
B) The method of constant stimuli, staircase method and method of average error
C) Constant stimuli, method of limits and method of average error
d) method of adaptation, constant stimuli and method of limits

74. The point in the back of the retina through which the optic nerve exists the eye. This 
exist point contains no rods or cones and is therefore insensitive to light

A) Fovea B) Pupil C) Visual cortex d) Blind spot
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69. C£r¡Rjã]¤, y~WLq| v]sLy°¥ Kq]¨sOU WLq]prOW¥¨]ap]¤ vu]f]q]\ÿOv]a]sæ. 
y~WLq| v]sLy°tORa DkSpLYU ________ IÐf]¤ v|©oL¨]p]q]¨OÐO.

A) RFC 1118 B) RFC 1436 C) RFC 1918 d) RFC 2131

70. qL¦yURvp¡ BNWoe°t]¤ j]ÐV DkWqeR¾ yUqƒ]¨OÐf]jOç kqÒqLYf q}f]
IoT DkWqe°¥ V̈ WPaOf¤ AjOSpL^|osæ WLqeU

  \OvRa j¤W]p]q]¨OÐ S\LpVyOWt]¤ j]ÐV AjOSpL^|oLp D¾qU f]qR´aOR¾uOfOW.

A) cL¡ V̈ Rvm]¤ j]ÐLeV C¾qU BNWoe°¥ DºLWOÐfV, Avp]¤ j]ÐV yUqƒ]¨L¢ 
Wu]p]sæ

B)  IoT DkWqe°t]Rs cLã vtRq \]fr]¨]a¨OÐ q}f]p]sLeV yUnq]\ÿ]q]¨OÐfV, 
yUqƒe¾]jLp] kqÒqLYf q}f]W¥ DkSpLY]¨L¢ Wu]p]sæ

C)  IoT DkWqe°t]¤ DkSpLY]¨OÐ Ry¢yrOW¥ fRÐ o]W\ÿ yUqƒe oL¡«°¥ 
j¤WOÐO

d) Cf]jV WPaOf¤ WÒ|PŸ]UYOU yUqƒe¾]jLp] v]nv°tOU Bvw|oLeV

71. oj@wLNñU CÐV An]yUSmLij R\áOÐ RkqOoLãR¾¨Or]\ÿOç oPÐV vs]p NkwÔ°¥ 

i. ò]qfpOU oLãvOU

ii. NkWQf]pOU kq]SkLxevOU

iii. pO©]pOU pO©]qLz]f|vOU 

iv. RRv³Lj]WvOU RR^vwLNñkqvOU

A) i, ii, iv  B) i, ii, iii C) i, iii, iv d) ii, iii, iv

72. oPÐV Bh|WLs ØPtOW¥ oj@wLNñ¾]¤ pgLNWoU SmLi¾]R£ Zaj, SmLi¾]R£  
Nkv¡¾j°¥ ARsæË]¤ j]q}ƒ]¨LvOÐ RkqOoLãU IÐ]v kb]¨eRoÐV j]¡SÇw]\ÿO.

A) Ny›WV\rs]yU, RRyS¨L AjLs]y]yV, m]Szv]pr]yU

B) Ny›WV\rs]yU, m]Szv]pr]yU , l‚Vxes]yU

C) Ny›WV\rs]yU, l‚Vxes]yU, m]Szv]pr]yU

d) l‚Vxes]yU, m]Szv]pr]yU, RRyS¨L AjLs]y]yV

73. RRyS¨Ll]y]¨¤ q}f]W¥ CvpLeV

A) kq]i], j]qÍqoLp DS¾^jU, Rðp¡SWyV q}f] IÐ]vpORa q}f]W¥

B) ò]qoLp DS¾^j¾]R£ q}f], Rðp¡SWyV q}f], wqLwq] k]wW]R£ q}f]

C) ò]qoLp DS¾^jU, kq]i]WtORa q}f]pOU wqLwq] k]wW]R£ q}f]pOU

d) RkLqO¾RÕaO¾¤ q}f], j]qÍqoLp DS¾^jU, kq]i]WtORa q}f]

74. SjNfjLc] W¹]¤ j]sj]¤¨OÐ Rrã]jpORa k]¢nLY¾Oç SkLp]£V. CT Añ]f~ 
SkLp]£]¤ SrLcOWStL SWLeOWStL Csæ, Af]jL¤ NkWLwS¾LaV yUSvhjƒoosæ.

A) SlLv]p   B) k|PkV¥ 

C) v]x~¤ SWL¡ŸWõV  d) RRmæ¢cV Sy×LŸV
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75. laws of perceptual grouping are

A) laws of similarity, proximity, closure, simplicity, common region and relative size

B) laws of proximity, good continuation, closure, simplicity, common region and shape 
constancy

C) laws of similarity, good continuation, proximity, closure, common region and simplicity

d) laws of similarity, good continuation, proximity, closure, common region and 
stereograms

76. monocular cues to depth or distance include

A) Size cues, linear perspective, atmospheric perspective, overlap, height cues and 
motion parallax

 B) linear perspective, atmospheric perspective, overlap, height cues, motion parallax 
and convergence

C) Atmospheric perspective, overlap, height cues, motion parallax, convergence and 
retinal disparity

d) Convergence, size cues, overlap, height cues, motion parallax and retinal disparity

77. Those who study PSI and other paranormal events or events outside our normal 
experience or knowledge

A) Environmental psychologist B) Cognitive psychologist

C) Parapsychologist   d) Neuropsychologist

78. mental categories for object, events or experiences that are similar to one another 
in one or more respects are

A) Reasoning B) Concepts C) Hindsight’s d) Visual images

79. In Piaget’s theory, the modification of existing knowledge structures (Schemes) as 
a result of exposure, which is 

A) Assimilation   B) Accommodation 

C) Egocentrism   d) Object permanence

80. According to Kohlberg the stages of moral development, in which individuals judge 
morality in terms of abstract principles are
A) Preconventional, conventional and legalistic orientation
B) Ethical consideration, preconvention and post conventional
C) Preconventional level, the conventional level and the post conventional level
d) moral judgment, post conventional level and ethical principle orientation



 158/23 – M

a -27- 

75. Rk¡RykV\~¤ NYPÕ]UY]R£ j]po°¥ CvpLeV

A) yoLjf, yLo}k|U, Aaà¤, sLt]f|U, RkLfOvLp NkShwU, BSkƒ]W vsOÕU IÐ]vpORa 
j]po°¥

B) yLo}k|U, jsæ fOa¡\ÿ, Aaà¤, sLt]f|U, RkLfOvLp NkShwU, BWQf] ò]qf IÐ]vpORa  
j]po°¥

C) yoLjf, jsæ fOa¡\ÿ, yLo}k|U, Aaà¤, RkLfOSoXs, sLt]f|U IÐ]vpORa j]po°¥

d) yoLjf, jsæ fOa¡\ÿ, yLo}k|U, Aaà¤, RkLfOSoXs, ð}q]SpLNYLoOW¥ IÐ]vpORa  
j]po°¥

76. Bu¾]SsL hPq¾]SsL Dç JWLWQf]p]sOç yP\jWt]¤ Cv D¥RÕaOÐO.

A) vsOÕ yP\W°¥, SqX}p v}ƒeU, AÍq}ƒ v}ƒeU, KLv¡sLÕV, RRzãVW|PyV, SoLx¢ 
kLqsLWõV

 B) s}j]p¡ v}ƒeU, AÍq}ƒ v}ƒeU, KLv¡sLÕV, RRzãVW|PyV, SoLx¢ kLqsLWõV, 
W¦Sv¡^¢yV

C) AÍq}ƒ v}ƒeU, KLv¡sLÕV, RRzãVW|PyV, SoLx¢ kLqsLWõV, W¦Sv¡^¢yOU Rrã]j 
Ayof~vOU

d) W¦Sv¡^¢yV, vsOÕ yP\W°¥, KLv¡sLÕV, RRzãV W|PyV, SoLx¢ kLqsLWõV, Rrã]j 
Ayof~U

77. PSI pOU oãV AyLiLqe yUnv°tOU ARsæË]¤ jÚORa yLiLqe AjOnv¾]SjL Ar]
v]SjL kOr¾Oç Cv£OW¥ kb]¨OÐv¡

A) I¢vSpL¦Ro£¤ RRyS¨Lt^]ðV B) SWL®]ã}vV RRyS¨Lt^]ðV

C) kLqL RRyS¨Lt^]ðV   d) j|PSrL RRyS¨Lt^]ðV

78. KSÐL Af]si]WSoL WLq|°t]¤ kqy×qU yLo|oOç KmV̂ WVãV, Cv£OW¥ ARsæË]¤ 
AjOnv°¥¨Oç oLjy]W v]nLY°¥ CvpLeV

A) j|LpvLhU B)  Bwp°¥ C)  z]¢cVRRyãVyV  d)  v]x~¤ CSo^OW¥

79. k]pLSxpORa y]ÈLÍ¾]¤, IWõVSkLxr]R£ lsoLp] j]sv]sOç v]³Lj ZajWtORa 
(Ø}oOW¥) kq]xVWqeU, AfLpfV 

A)  Ay]o]Ssx¢   B)  A¨SoLScx¢ 

C)  CTSYLRy¢Na]yU  d)  KmV̂ WVãV Rk¡oj¢yV

80. SWL¥Rm¡Y]R£ An]NkLp¾]¤, iL¡Ú]W v]WLy¾]R£ ZŸ°¥, AoP¡¾ ff~°tORa 
Aa]òLj¾]¤ v|©]W¥ iL¡Ú]WfRp I°Rj v]sp]qO¾OÐO ?

A)  Nk} W¦Rv¢xe¤, W¦Rv¢xe¤, s}Ys]ð]WV KLr]pS£x¢

B) RRjf]W kq]Yej,  Nk} W¦Rv¢xe¤, SkLðV W¦Rv¢xe¤

C)  Nk} W¦Rv¢xe¤ Rsv¤,  W¦Rv¢xe¤ Rsv¤,  SkLðV W¦Rv¢xe¤ Rsv¤

d) iL¡Ú]W v]i], SkLðV W¦Rv¢xe¤ RsvsOU RRjf]W ff~ KLr]pS£xjOU
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 81. One of my teachers ___________ next door to  my aunt. (Fill in the blank with the 
appropriate form of the verb given)

 A) lives B) live C) living d) were living

 82. I realized that we ________ before. (Fill in the blank with the appropriate form of the verb 
given)

 A) meet B) met C) have met d) had met

 83. Against her parents’ wishes, she wants to be _______ journalist. (Fill in the blank with 
the appropriate form of the article)

 A) an B) a C) the d) no article

 84. you like bread, ___________ 

   (Supply the correct form of the question tag given)
 A) isn’t it ? B) aren’t you ? C) do you ? d) don’t you ?

 85. I do not approve ________ your action.

  (Supply the correct preposition given)
 A) to B) of C) on d) with

 86. Identify the synonym of the word ‘Intrepid’ from the options given below.
 A) plentiful B) lively C) brave d) unfair

 87. Identify the meaning of the idiom ‘To take the reins’ from the options given below.
 A) To assume command   B) To accept criticism
 C) To humiliate   d) To cooperate

 88. RSVP is an abbreviation for ‘répondez s’il vous plaît’. What does it mean ?
 A) In the same place   B) Please reply
 C) Note well   d) Which is to be proved

 89. Identify the expression which is equivalent in meaning to the term ‘limnology’.
 A) The study of human face B) The study of mountains
 C) The study of colours   d) The study of lakes

 90. He takes after his mother rather than father.

  In the sentence given above, the meaning of ‘takes after’ is
 A) Represent B) Believe C) Resemble d) Protect
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91. "WPRap]qOÐO WuO¾rO¨OW' IÐ RRws] RWLºV DSÇw]¨OÐRfÍV ?

A) v]jLwWLSs v]kq}f mOÈ] B) RWŸ WLs¾V RWŸ mOÈ] 

C) WPaOv]ŸO WPaOoLrOW  d) AaO¾OWPa] \f]¨OW

92. "Around the corner’ – IÐ NkSpLYU RWLºV A¡ÀoL¨OÐRfÍV ?

A) AaO¾Ovq]W    B) fsWr°OW 

C) Aq]W]sL¨OW   d) Nkhƒ]eU Rv¨OW

93. Rfã]sæL¾ vLW|U f]qR´aOR¾uOfOW. 

A) Y¡n]e]pLp AvR£ nLq|Rp BwOkNf]p]sL¨].

B) k¾LU WæLyV kq}ƒpORa v]^pwfoLjU C¾ve jPr]¤ 95 BeV. 

C) JWShwU 358 Sk¡ SpLY¾]¤ kRËaO¾O.

d) v]h|L¡À]W¥ KLSqLqO¾qLp] oOSÐLŸOvÐV kOñWU RRWoLreU.

94. "NkyUY]¨OÐpL¥' – IÐf]jOç wq]pLp khU f]qR´aOR¾uOfOW.

A) NkyUYW¢ B) NkLyUY]W¢ C) NkLyUYW¢ d) NkyUY]W¢

95. feOÕOºV IÐfV k]q]R\ÿuOf]pL¤  
A) feOÕV + DºV B) feOkO + DºV C) feOkVV + DºV d) feOÕO + DºV

96. "RkqOU + kr' – S\¡R¾uOf]pL¤ W]ŸOÐfV 

A) RkqOUkr B) RkqOÒLr C) RkqOÒr d) RkqOkr

97. nPo]pORa kq|LpkhU AsæL¾fV JfV ?

A) iqe] B) vyOi C) Soh]j] d) ^j]Nf]

98. v]kq}fkhU IuOfOW – v]vQfU

A) BvQfU B) yUvQfU C) AjLvQfU d) yUv]vQfU

99. KãÕhU B¨OW – "IsæL ^j°¥¨OU mLiWoLp'

A) y¡vÿ^j}pU B) y¡vÿ^jNk]p C) y¡vÿ\j}jU d) y¡vÿ^]¾V

100. If]¡s]UYU IuOfOW – "pLNf]W¢'

A) pLNf B) pLNf]W C) pLNfW d) pLNfW]
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         DSh|LYL¡À]W¥¨Oç j]¡SÇw°¥

1. S\Lh|  WasLôV j¤WOÐfV S\Lh| kOñW qPk¾]sLeV. a, B, c, d IÐ} jLsV Aƒq SWLcOWt]
sOç S\Lh| kOñW°tLeV j¤WOÐfV.

2. S\Lh| kOñW¾]R£ oOWt]¤ CafV vw¾V NkSf|W SWLt¾]¤ S\Lh|kOñW Aƒq SWLcV Aˆa]ˆ]
ŸOºV.

3. KLSqL DSh|LYL¡À]¨OU j¤W]p]ŸOç S\Lh|kOñW Aƒq SWLcV AvqORa kq}ƒL zLt]Rs Cq]Õ]
a¾]¤ SqXRÕaO¾]p]q]¨OU.

4. j]°¥¨jOvh]ˆ]q]¨OÐ Aƒq SWLc]¤ j]ÐOU v|f|ñoLp SWLc]sOç S\Lh|kOñWoLeV 
sn]¨OÐRfË]¤ AfV Daja] C¢v]^]SsãrORa èÈp]¤RÕaOS¾ºfLeV.

5. S\Lh|kOñW NWojÒ¡ kOrU \ŸpORa vsfOvw¾V oOWtã¾Lp] S\¡¾]ŸOºV. NWojÒ¡ CŠL¾  
S\Lh|kOñWoLeV j]°¥¨V sn]¨OÐRfË]¤ ASf Aƒq SWLc]sOç S\Lh|kOñWU oLã] 
vL°OW.

6. S\Lh| kOñWU vsfO oL¡^]j]¤ oÈ|nLY¾Lp] y}¤ R\pÅ]q]¨OU. D¾qRouOfLjOç AjOof]   
sn]ˆLsŠLRf S\Lh| kOñWU fOr¨L¢ kLa]Š.

7. kq}ƒ fOa°]pLsOa¢ DSh|LYL¡À] fj]¨V sn]ˆ]q]¨OÐ S\Lh| kOñW¾]¤ 100  S\Lh|°tOU 
NWooLp] DSºL IÐV kq]SwLi]S¨ºfLeV. S\Lh| kOñW¾]¤ Aˆa]¨L¾SfL, W}r]pSfL, 
v]ŸOSkLpSfL Bp Sk^OW¥ DºLW]Š; AgvL DRºË]¤ A¨Lq|U C¢v]^]SsãrORa èÈp]¤ 
RWLºOvq]WpOU ASf Aƒq SWLc]sOç kP¡¹oLp S\Lh| kOñWU oLã] vL°OWpOU 

 R\SáºfLeV. CfV JãvOU NkiLjRÕŸfLeV.

8. CT S\Lh|SkÕr]Rs 1 oOf¤ 80 vRqpOç S\Lh|°¥ CUYæ}x]sOU KTSh|LY]W nLxp]sOU (ospLtU)
Bp] A\ÿa]\ÿ]q]¨OÐO. CT S\Lh|°tORa A¡ÀU, f¡²o IÐ]v yUmÌ]\ÿ yUwp°¥ V̈ CUYæ}xV 
oLi|o¾]sOç S\Lh|°tLeV BiLqoL¨OÐfV.

9. S\Lh| kOñW¾]R£ AvyLj Sk^]jO RfLŸOoO¢kV KÐOU IuOfL¾ qºV Sk^OW¥ S\¡¾]ŸOºV. 
CfV D¾qU WºOk]a]¨OÐf]jOç  WOr]ÕOW¥¨Lp] DkSpLY]¨LvOÐfLeV.

10. D¾q°¥ SqXRÕaO¾L¢ BqUn]¨OÐf]jV oOÒV D¾q¨asLy]R£ orOkOr¾Oç j]¡SÇw°¥ 
èÈLkP¡‹U vLp]¨OW.

11. wq]pO¾qU D¥RÕRa KLSqL S\Lh|¾]jOU (A), (B), (C), (D) IÐ jLsV D¾q°¥ fÐ]q]¨OU. wq]
pO¾qU RfqR´aO¾V K. IU. B¡. D¾q¨asLy]¤ mÌRÕŸ S\Lh| jÒr]jV SjRqpOç wq]
pO¾qU yP\]Õ]¨OÐ WOo]t (mm]¥) oLNfU j}sSpL WrOSÕL mL¥ SkLp]£V Skj DkSpLY]ˆV 
WrOÕ]¨OW.

12. KLSqL wq]pO¾q¾]jOU KqO oL¡¨V sn]¨OWpOU KLSqL RfãO¾q¾]jOU 1/3 oL¡¨V jìoLvOWpOU 
R\áOU. D¾qU SqXRÕaO¾L¾ S\Lh|°¥¨V oL¡¨V jìoLvOWp]Š.

13. kq}ƒL yopU Wu]pOÐf]jV oOSÒL, D¾q¨asLyV C¢v]^]SsãRr J¤Õ]¨LRfSpL KqO DSh|LYL¡À]
pOU kq}ƒLzL¥ v]ŸV kOr¾OSkLWL¢ kLa]Š.

14. j]¡SÇw°¥ W¡wjoLp] kLs]S¨ºfLeV. kq}ƒp]¤ NWoS¨aV ja¾OWSpL Af]jOç èoU 
ja¾OWSpL R\áOÐ DSh|LYL¡À]WRt ASpLY|qLp] NkX|Lk]¨OÐfLeV.
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